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1.  In November, PETsMART issued convertible bonds.  Which types of potential conflicts between stockholders and bondholders would have been more significant had PETsMART issued non-convertible debt?  Justify your answer.  





2.  Assume that PETsMART’s new CEO, Philip Francis, decides to implement an EVA type bonus system throughout the firm.  He has set a target EVA of $10 million for the fiscal year ended in February, 1999.  The target bonus for Francis in the first year is $125,000 with an EVA leverage factor of $8 million.  PETsMART will use a bonus bank and Francis will start with a bonus bank balance of $250,000.  Thirty percent of the beginning balance in the bonus bank will be paid out each year.  Forty percent of the current year’s bonus will be paid out each year with the remaining sixty percent being deposited into the bonus bank.  If PETsMART’s actual EVA in fiscal year 1999 is $8.5 million, what will be the balance in the bonus bank for Francis after the 1999 bonus payment?





3.  Upon arriving at PETsMART, the new CFO, Neil Watanabe, is horrified to find that PETsMART has been basing all of its expansion analysis on internal rate of return rather than net present value.  What types of errors might PETsMART have been making due to their basing their analysis of expansion opportunities on internal rate of return?  What are the sources of these errors?





4.  PETsMART is considering opening a new store in Temple.  Initial costs associated with opening the new store are estimated to be as follows:  Cost today = $50,000; cost a month from today = $150,000; cost two months from today; $400,000.  The store is expected to open two months from today.  Once the store is open, the net cash flows are expected to be -$200,000 beginning three months from today and continuing through nine moths from today.  Beginning 10 months from today, net cash flows are expected to be +$25,000 and are expected to grow by 1% per month through 20 years from today.  If PETsMART’s cost of capital is 14% per year, should they open the store?





5. Suppose that PETsMART is thinking of building a new store in Houston.  In attempting to assess the required return on the new store in Houston, PETsMART has collected the following return on similar stores:





Year	Return on Store	Return on S&P500


1995	-8%	-2%


1996	45%	32%


1997	25%	28%





If the return on T-bills is 4.77%, what is the required return on the Houston store?





6. Suppose that PETsMART is thinking of building a smaller store in Brownwood.  If the Brownwood store is a success then the store can be enlarged into PETsMART’s typical superstore at a cost of $1,500,000.   The present value of the expected cash inflows from this expansion is $1,800,000, and the standard deviation of returns on this expansion is 47%.  According to the lease agreement they have on the new building, this expansion may occur any time in the next 4 years.  The store and its expansion are expected to be in operation through 20 years from today.  The yield to maturities (assuming continuous compounding) on U.S. Treasury strips of various maturities are as follows:  1-year = 5.57, 2-year = 5.58, 3-year = 5.62, 4-year = 5.65, 5-year = 5.67, 20-year = 6.11.  What impact does this possible expansion have on the value of the Brownwood store to PETsMART?





7.  Despite some scaling back of its growth, PETsMART continues to have high growth and losses.  What does this suggest about PETsMART’s optimal capital structure?  Justify your answer.





8.  Because of its rapid growth and losses, PETsMART currently pays no dividend.  Why is this the optimal dividend policy for PETsMART?


